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q_uesﬁons
of a

'j_"".Operating System is a program that acts as an intermediary between a user
computer and the computer hardware.
2. What are the si gnificant features of Multitasking and Multiprogramming?
it used?

b, Whatis Spooling? Why is
ss and Program in Qperating System.

'_'f.. State the difference between Proce

and explain briefly each state of a process.

d. Draw the process state diagram
dulers that are handled by the Operating System.

‘¢, Briefly explain the types of sche

) (PU scheduling 18 the method to select from among the processes in MEMory that are

U to one of them.
ling giving its advantages and dis

d in Round Robin scheduling affects the

ready to execute, and allocates the CP

schedu advantages.

3, Describe the Shortest Job First

b, Explain how size of the time quantum use

performance of CPU scheduling.
rithms in Operating System.

¢, Compare various sch eduling algo
esses,\;'vith arrival times and length of the

4. Consider the follow ing set of proc CPU

burst times given in milliseconds.
§!




Q4.

+

.. Draw the Gantt chart for the following scheduling algorithms:
a. Preemptive Shortest Job First.
b. Round Robin (using a time quantum of 10 milliseconds).
Il Calculate the waiting time and the turnaround time for each proces
each of those scheduling in part (I). Also compute the average wal
and the average turnaround time for each of those algorithms.
I, Identify the scheduling algorithm from part (I) that result i

average waiting time,

A cooperating process is one that can affect or be affected by other processess

in the system,

a.
b.

What do you understand by Race Condition? Explain using a suitable exg
Explain the Dining Philosophers Problem of process synchronization anf
semaphores could be used to solve the problem.
Briefly explain what it meant by Deadlock and state the necessary conditi
deadlock to occur.
Consider the snapshot of system operation described below:
The system has three processes namely P1, P2 & P3 and three resources
R2 and R3. R1 has two instances, R2 has two instances and R3 has one ing
® Pl holds R2,R3 and requests R1
® P2 holds R1 and requests R2
¢ P3 holds R2.R3

I.  Draw the corresponding Resource Allocation Graph.

manages primary memory.

b.

“a. Describe the following memory allocation methods:

I First-fit allocation,
1. Best-fit allocation.

Explain the difference between Internal and External fragmentation.

c. Distinguish between Paging and Segmentation in memory management,




llowing table shows the job details and the jist of memory blocks of the

Job List Memory List

Job No Memory Memory Block Size
Requested Location

n

P |

13 358

@

Use the first-fit and best-fit memory allocation policies to allocate the memory
blocks to the jobs given and calculate the memory fragmentation each case.
‘Which is the most efficient allocation policy for the particular problem given

above? Justify your answer.




